
Note: the best way to study for the tests is to:

· Start by reading the slides  and writing them in your notebook (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

Reserve some hours (perhaps 4) every week to answer the questions. If you answer them properly, then you’ll need to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

The answers of the questions of week 10 should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 10 in bold at the beginning of your answers.

Week 10 Unconventional MP
1.Explain the meaning of the following sentence: unconventional MP  is to be used when CB’s interest rates have been lowered to zero and yet AD remains below FE. 
2. a) If future short-term rates were known, and the long-rate was higher than the average of the short rates, what would happen? Explain

b) If future short-term rates were known, and the long-rate was lower than the average of the short rates, what would happen? Explain

3.a) What is forward guidance? 
b) What’s its goal?
c)Explain the mechanisms through which forward guidance may reduce U and increase inflation.
b) Did the Fed’s forward guidance of Dec 2012 succeed? Explain.

4.Suppose that there are only B1 and B2, and that the Fed sets i1.
a) Which is the risk run by the government and corporations when they fund themselves through two successive B1? Explain.

b)  Which is the risk run by banks when they purchases B2? Explain.

5 a) Why does the B2d curve have a positive slope?

b) Why does the B2s curve (flow) have a negative slope?

6.a) Why is the B2s curve vertical at a certain moment in time?

b) In this graph, present the effect of the purchase of $600b of B2 by the Fed in 2011/1st sem.

c) What is the effect on the RP and on i2? Explain. Is that what happened as a result of the QE in the first half of 2011?
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d) How have the more risk averse banks reacted to that? Explain.
e) What was then the effect of the QE-2011/1st sem on the amount of reserves and B2 held by banks and by the Fed? 
f) If the demand for credit to fund C and I was inelastic with respect to i2, what would happen to the amount of credit extended to households and businesses as a result of the QE? And to the money stock, AD and U? Explain.

7. Explain the mechanisms through which QE may reduce U.
8. a) What was the Fed’s intended effect with the QE3 on the long-rate?

b) Why may have not the Fed succeeded?

c) Which other way could have the Fed used to achieve its goal for the long rate?

9. Consider the evolution of France’s TB10 yield depicted in the following graph:
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Did ECB’s QE (Mar 2015-Dec2018) help AD to rise in the Euro area? Explain.
10. a) What is a CB’s operational framework?
b) Explain the Fed’s operational framework before the GR of 2008-9:

i) What did the Fed do when iIBMM started to fall below the Fed’s target?

ii) What did the Fed do when iIBMM started to rise above the Fed’s target?
c) How did the Fed’s operational framework change?
10. Consider the evolution of Japan’s TB10 yield portrayed in the following graph:
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Did the BoJ’s QE help AD to rise? Explain.
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